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Question Number : 1 Question Id : 70819121274 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A radioactive sample is undergoing o decay. At any time L, its activity is A and another

time t,, the activity is TX What is the average life time for the sample ?

Options :
In5
t‘) 1'.1
70819168971. -
In(ty, + t;)
70819168972. 2
.tz £

70819168973, In5

70819168974.

Question Number : 1 Question Id : 70819121274 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



OB (TEE T - (2% tlmmmAwwaamhammﬁ 1
J
TIIHE 57 9 27 7

Options:
In5
L~ tl
70819168971, -
In(t, + )
70819168972. 2
.tz £

70819168973, In5

70819168974.

Question Number : 2 Question Id : 70819121275 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labeled as Assertion A and the other is labeled as
Reason R.

Assertion A : For a simple microscope, the angular size of the object equals the angular size
of the image.

Reason R : Magm’f ication is achieved as the small object can be kept much closer to the eye
than 25 cm and hence it subtends a large angle.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

20819168975, Both A and R are true and R is the correct explanation of A

70819168976, Both A and R are true but R is NOT the correct explanation of A

70819168977. A is true but R is false



70819168978, M i false but Riis true

Question Number : 2 Question Id : 70819121275 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OIS o1 B T W0« @5 qfe A OF SRo@ Fe R F0A AT 4 (2 |

Ffe A @ @51 7 TREE R A0, T (S WA AT S A |

FRAR ;T B TH TERES 5 41 25 cm OLFS S5 AR #f I A T E
TN (N P, (TR P Ada T A

TG T 4TS, TAE [Rd 441 %G TEd 5 F4|

Options:

20819168975, A ¥ R TCAGR 761 SIF R, A I 8% =0T

20819168976, A T R TAGE 751 F% R, A T 8% TR0 72|

70819168977, A ™™ 8 R =yl

70819168978, A @ 78 R 7611

Question Number : 3 Question Id : 70819121276 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A tuning fork A of unknown frequency produces 5 beats/s with a fork of known frequency
30 Hz. When fork A is filed, the beat frequency decreases to 2 beats/s. What is the frequency
of fork A ?

Options :

70819168979, -0 1z



70819168980, -8 Hz

70819168981, 242 Hz

47
70819168982, +2 Hz

Question Number : 3 Question Id : 70819121276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T FATF -2 A F, 340 Hz F91239 &b TS ¥ (108 476 (FF%S 5 51 788 (beat)
Teom 74| AT A EAICR 4T3 ATGH 41 T, FAFE FOATF 2 FaF 4fS (GFala I AW A
XEATEHR F5AF e 9

Options :

70819168979, -0 Hz

70819168980, -8 Hz

70819168981, >4° Hz

47
70819168982, +2 Hz

Question Number : 4 Question Id : 70819121277 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Draw the output signal Y in the given combination of gates.

A : —t
O[T 2 34 5t Ae— ]
X
B : Be
0] 1 2 3 4 5 s

Options :

o 1 2 3 4 5 s
70819168983.

of 1 2 3 4 5 s
70819168984.

ol 1 2 3 4 5 ts)
70819168985.

of 1 2 3 4 5 ts)
70819168986.

Question Number : 4 Question Id : 70819121277 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



TG (515 AT A TNEh#b TIFE Y W Fq|

A } }
of 1 2 3 4 5 ts) Ae—] |
Y
B } B'.
o] 1 2 3 4 5 ts)
Options:
0] 1 2 3 4 5 Hs)
70819168983,
0 1 2 3 4 5 i)
70819168984,
of 1 2 3 4 5 fts)
70819168985,
of 1 2 3 4 35 ts
70819168986.

Question Number : 5 Question Id : 70819121278 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement 1 ’ A second’s pendulum has a time period of 1 second.
Statement II [t takes precisely one second to move between the two extreme
positions.

[n the light of the above statements, choose the correct answer from the options given
below :

Options :

20819168987 Both Statement I and Statement 11 are true

70819168988. Both Statement I and Statement 11 are false

70819168989. Statement | is true but Statement Il is false

70819168990. Statement 1 is [alse but Statement 11 is true

Question Number : 5 Question Id : 70819121278 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e 1 : OF (RFST (e S 1 THES |

e 11 T3 W N SEEeE WEe [e[d Ad JASE OF (R WA 77|
AT T HFNS, WE T9q 99 [GFEd #[T 53 41|

Options :

20819168987, I8 | TF ¥ 11 TG 37611

20819168988, & | T B& 11 TRGZ ey

& 1 7 9= BfE 11 fmr
70819168989. e iy

70819168990, 1 1 M [ Sf& 117151



Question Number : 6 Question Id : 70819121279 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If°C" and “V’ represent capacity and voltage respectively then what are the dimensions of A
where C/V=A7?

Options:

[—27 -312T6
70819168991.[M o

] 3 413 7
70819168992, M "L " I"T']

1—2 41377
70819168993. Lo S L

[-11-31-2T-7
70819168994. Lol i i 4

Question Number : 6 Question Id : 70819121279 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
M C/V=\T, OF 'C o V' [ S 44 (capacity) ¥ 453 Jo120%, (908 \ T TA0A9 &
737

Options :

=2 3126
70819168991.[mir G

f 3 413 77
70819168992, M L "' T']

=2 41377
70819168993. LR i

g—1 3 2 7]
70819168994. Lol s



Question Number : 7 Question Id : 70819121280 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An aeroplane, with its wings spread 10 m, is flying at a speed of 180 km/h in a horizontal
direction. The total intensity of earth’s field at that part is 2.5x 10 4 Wb/m? and the angle
of dip is 60°. The emf induced between the tips of the plane wings will be B

Options :

70819168995, 108.25 mV

62.50 mV
70819168996.

70819168997. 88.37 mV

F 2 T
70819168998, ~ 1122 m\

Question Number : 7 Question Id : 70819121280 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

eEiE 7T, 180 km/h F1os, AT 10 m T @4 47 (4T 5176 FAE | (7 T© +f4@T
CFE P T (intensity) 25% 10~ Wh/m? &% @@ @19 (angle of dip) 60° | &3 (4T
ARG ffae wcEhe (7 e 5e 79 2T

Options :

70819168995, 108:25 mV

62.50 mV
70819168996.

70819168997. 88.37 mV

F 2 T
70819168998, ~ 1122 m\



Question Number : 8 Question Id : 70819121281 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A cord 1s wound round the circumference of wheel of radius r. The axis of the wheel is
horizontal and the moment of inertia about it is . A weight mg is attached to the cord at the
end. The weight falls from rest. After falling through a distance 'h’, the square of angular
velocity of wheel will be :

Options :
Egh
70819168999.
2¢h
| 2
70819169000, ' T mr
- 2mgh
I+ m 1‘2
70819169001.
2mgh
2
70819169002, & ' M1

Question Number : 8 Question Id : 70819121281 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

r AL &5 TR AT CUE q8] WS (R FIGA THOE ST IS (T TF T
AT 24 G TN [ | RICEE Tq© &F GG+ mg HeCA5 34127 | SEILG] 29 54 SR o
4 #Ta| ‘W T4 A AAE TS, A5 (19 @5 A T

Options :
Egh
70819168999.
Eyrh
| 2
70819169000, ' T mr

70819169001.



2mgh

[ + mr?

2mgh

| Emr2

70819169002.

Question Number : 9 Question Id : 70819121282 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The trajectory of a projectile in a vertical plane is y=ox— px? where a and B are constants
and x & y are respectively the horizontal and vertical distances of the projectile from the
point of projection. The angle of projection 8 and the maximum height attained H are
respectively given by :

Options :
z
o
tan 1[_%, ey
20
70819169003.
.l( ; ) 2
tan 1|E fudl
al P
70819169004.
f.'l'.z
tan lt'l'.,, E
70819169005.
'—1:['!'.2
tan l(.'l'.,.
70819169006. B

Question Number : 9 Question Id : 70819121282 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Q¥ TETg A @) ATRAR AU o Y=o — By, TC o OF P ETE F x, y T A0HA Roa
T TS HF ATF TGS YTHATT [E| TR T O O A e Thel H I,

Options :
2
tan l[:’.r —
70819169003 2B
tan 1(&& o
-_CE/' B
70819169004,
2
o
tan lu, E
70819169005,
40:2
Ltan lct,
70819169006. P

Question Number : 10 Question Id : 70819121283 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two masses A and B, each of mass M are fixed together by a massless spring. A force acts on
the mass Bas shown in figure. If the mass A starts moving away from mass B with acceleration
‘a’, then the acceleration of mass B will be :

<—@——TEOEIII—0
F B A
Options :
ME
F+ Ma
70819169007.
F + Ma

70819169008. M

708191690009.



‘Ma —F
M

'F — Ma
M

70819169010.

Question Number : 10 Question Id : 70819121283 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T T2 e TS, Aferh M S i <9 A W B A% 997 (2T Baw (R &dr @ @1 aF
B 9 <o @ 34 gl IWE A SO0 B AW O ‘2’ JALTT WNeAlA oifE 04, (9% B
A |9 79,

«———9—TUUILas——0
F B A
Options :
MF
+ Ma
70819169007.
F+ Ma

70819169008, M

‘Ma —F

708191690009.

'F — Ma
M

70819169010.

Question Number : 11 Question Id : 70819121284 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : An electric dipole is placed at the centre of a hollow sphere. The flux
of electric field through the sphere is zero but the electric field is not
zero anywhere in the sphere.

Statement 11 If R is the radius of a solid metallic sphere and Q be the total charge
on it. The electric field at any point on the spherical surface of radius
r (<R)is zerobut the electric flux passing through this closed spherical
surface of radius r is not zero.

[n the light of the above statements, choose the correct answer from the options given
below :

Options :

2081916901 1. Both Statement 1 and Statement 11 are true

70819169012. Both Statement | and Statement Il are false

70819169013. Statement 1 is true but Statement 1l is false

70819169014, Statement | is false but Statement 1l is true

Question Number : 11 Question Id : 70819121284 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o 1 ¢ D] RN (ST (FHS ) (A el 941 (2% | (STEaM e [yerwad
TR (flux) %7, 7 ARG & (ONEZ [RTHL 0 72|

eI ;@ TH G5 T 4T (TR APTY R WF TS 4 I 4R AT Q | x (<R)
AL (AT P R Repe Ry R A 279, [ 1 IO @2 TF
(closed) THERFA A AW 4R (T AR (FAT 9T (electric flux) bl
=

SAMAG {3 TIGA HFHE, T [AF5E A WF Ued 5 34|

Options :

wTE HATHIS 5!
70819169011, ' 1T ¥F& 1l bl



ofE | o OfF 11 wass e

70819169012.
f& | 551 F= T 11 e
70819169013.
fE | o= o= ©fE 11 9
70819169014.

Question Number : 12 Question Id : 70819121285 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A scooter accelerates from rest for ime t, at constant rate a, and then retards at constant

rate a, for time t, and comes to rest. The correct value of t—l will be :
g 2 2

Options:

70819169015.

70819169016.

.i-3.1 { iﬂz
aj
70819169017.

Ell |iﬂ.2

70819169018, -2

Question Number : 12 Question Id : 70819121285 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



@3 ZO t, A A a, T 2 79 G 11 [WYE W 9F TR ARG t, A A a, TN

. b
39S V99 (2 79 Ty A1g 33 anﬁrﬁ’a:

Options :

ap

as
70819169015.

a

d
70819169016.

.i-.:ll { El;)_

dy

70819169017.

.al f El2

70819169018, 2

Question Number : 13 Question Id : 70819121286 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The internal energy (U), pressure (P) and volume (V) of an ideal gas are related as U=3PV +4.
Thegasis:

Options :

monoatomic only.
70819169019. i

70819169020. diatomic nnl}-'.

70819169021, Polyatomic only.

either monoatomic or diatomic.
70819169022.



Question Number : 13 Question Id : 70819121286 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

451 I ¢ (RS, WErA *fE (U), ¢t (P) OF e (V) T TEE TR U=3PV+4 |

L"JECE' :

Options :

GF-AAAAEE (Z |
70819169019.

70819169020, & o

70819169021. o e

—ofqefEas =eET B-oaaefas
70819169022. " & l

Question Number : 14 Question Id : 70819121287 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The recoil speed of a hydrogen atom after it emits a photon in going from n=>5 state to n=1
state will be :

Options :

70819169023, +34 m/s

70819169024, +17 m/s

3.25 m/s
70819169025.

219 m/s
70819169026.



Question Number : 14 Question Id : 70819121287 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T 51 Pfe TR AmE, TIW (E AN G513 n=5 T 44 n=1FAA 9% IACT A
TS (recoil) FE 37 :

Options :

70819169023, +-34 m/s

70819169024, +17 m/s

3.25 m/s
70819169025.

219 m/s
70819169026.

Question Number : 15 Question Id : 70819121288 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The length of metallic wire is I, when tension in it is T,. Itis [, when the tension is T,. The
original length of the wire will be :

Options :
L+ Iy
70819169027. 2
Toly + Tyby
T, + T,
70819169028. -
Tyl - Tl
I, = Ty

70819169029.



T4 — Til

T, — Ty
70819169030. -

Question Number : 15 Question Id : 70819121288 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e B T, 24, quE 41gd O/ O 1, =1 QAR B T, 2, Ol 1, 31 SR #g Ol

79

Options :
Lo+ 1,
70819169027. 2
Tl +Tyly
T+
70819169028. -
T1ly — Tals
T, - T
70819169029. -
T — Ty,
-
70819169030. 2

Question Number : 16 Question Id : 70819121289 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particle executes S.H.M., the graph of velocity as a function of displacement is :
Options :

a circle.
70819169031.



a parabola.
70819169032.

70819169033, &M ellipse.

a helix.
70819169034.

Question Number : 16 Question Id : 70819121289 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
OB FUAZ FIE “HEE 5fE PR F{T Fo 2B @9 @FFIbT 27 ¢

Options :

70819169031. < o

'-ﬂlf;v -‘ﬂp k=]
70819169032. o

51 Tra

L]
70819169033.

@1 @& (helix)
70819169034.

Question Number : 17 Question Id : 70819121290 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The incident ray, reflected ray and the outward drawn normal are denoted by the unit
.—) .—b .—) 2 = =
vectors a, b and ¢ respectively. Then choose the correct relation for these vectors.

Options :



70819169035.

70819169036.

70819169037.

70819169038.

— | —

2{2-{: C

Question Number : 17 Question Id : 70819121290 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4FF (T3 a, b TF ?Hmwmﬁ,ﬁ%ﬁ%a‘*ﬂwﬁ%ﬁmm| a3

(SF7 A T W& 77 0 41 |
Options :
70819169035, .

o ka 21
70819169036,

i
70819169037.

e
70819169038,

Question Number : 18 Question Id

: 70819121291 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find the peak current and resonant frequency of the following circuit (as shown in figure).

Arnmmm—”—

100mH 400 uF

() V =30 sin 100t

120 )
Options :

':I- .
70819169039, - ‘*and 50 Hz

70819169040, -2 A and 50 Hz

70819169041, 2 4+ and 100 Hz

" :
70819169042, -2 A and 100 Hz

Question Number : 18 Question Id : 70819121291 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
5@ (7 &a TEITHE A0 A AT (Peak current) T S Sl F=5415F foefd 41|

———asr—

100mH 449 uF

() V =30 sin 100t

120 ()
Options :

:
70819169039, 2 - =< 50 Hz



70819169040, -2 A &¥ 50 Hz

70819169041, 2 4 ¥ 100 Hz

70819169042, V-2 A =¥ 100 Hz

Question Number : 19 Question Id : 70819121292 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Aninclined plane making an angle of 30° with the horizontal is placed in a uniform horizontal
electric field 200 % as shown in the figure. A body of mass 1 kg and charge 5 mC is allowed

to slide down from rest at a height of 1 m. If the coefficient of friction is 0.2, find the time
taken by the body to reach the bottom.

V3

[g=9.8 m/ s sin 3[]":%; o8 3[]”:?]

e ———
E=200N/C

Options :

70819169043.

70819169044, 13S

70819169045, 92 S

70819169046, 020'S



Question Number : 19 Question Id : 70819121292 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sy . N =y S 5 =
e rqea @, 00 3 4% Sy T AL (RS, Sy e A1 30° (FFS (2o

02 931 ¢4 ©F 741 (2’| TS 5 mC WS W#F 1 kg T &5 78 1 m THOR &7 oaga #@1
foefar wnfeata o Car) 9 @ee ATz 0.2 2, IO A9 W O ARCA AN AW S

B3

” — o N3
[g=9.8 m/s%; sin30 —E,cosfﬁﬂ —?]

—_—
E=200N/C

Options :

70819169043.

70819169044, 138

70819169045, 92 S

70819169046, 020'S

Question Number : 20 Question Id : 70819121293 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Awireof1Q has a [c-ngth of T m. Itis stretched till its Ic-ngth increases b}-‘ 25%. The
percentage change in resistance to the nearest intr_-gr_-r 15

Options:

o |:|'
70819169047, ° 7



B
70819169048, 20"

25%
70819169049, 2>

2.5%
70819169050, 1227

Question Number : 20 Question Id : 70819121293 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QUF 103 999 0 1 m | 339 39 (71 259% (ZRAGE o0 27 | 399 (@149 #4361 fahed
AT 0 :

Options:
L | T,
70819169047, “° 7
e
70819169048, 0%
25%
70819169049, 2> °
2.5%
70819169050, 12>
Physics Section B
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Section type : Online
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Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911239
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819121294 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The zener diode has a V.=30 V. The current passing through the diode for the following
circuitis ~ mA.

4k
AW

'
~
il

o

o

90 V™5

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819121294 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



@51 (5 TR V, =30V | ©He W q9AS, TSGR WG A9 (2E [qye At
__mA |

4k
A

90 V™5

'l
~~J
51

L;

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819121295 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

: 5
Time period of a simple pendulum is T. The time taken to complete g oscillations starting

] o S 3
from mean position is —T. Thevalueofais .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819121295 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



5 i
T4 (TAF HR ATE T | mﬁmwm?ﬁ‘ag R4 (e oo Fad A Aol T

.Ll
ET | @3TFTA__
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819121296 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The volume V of a given mass of monoatomic gas chamges with temperature T according to
' 2

the relation V =KT%. The workdone when temperature chamgc-s h}-‘ 00 K will be xR. The

valueof xis

[R = universal gas constant]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819121296 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



| ra

LS

AT G ATAE (ST TG V @ T J O V = KT'3 9% eid el 7 | S6@r 9) K Aeferd

AR F=ofre I 2R, 2 IATT |
R = e g 27|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819121297 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two stream of photons, possessing energies equal to twice and ten times the work function
of metal are incident on the metal surface successively. The value of ratio of maximum
velocities of the photoelectrons emitted in the two respective cases is x : y. The value of
]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819121297 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AT 4TE TR T T 799 TF 7289 @ §E [H1F b 9 49 4197 AP FAR eI (T
A CFES (S F'5 LEeh A @A TPy y | xI T |

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819121298 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the highest frequency modulating a carrier is 5 kHz, then the number of AM broadcast
stations accommodated in a 90 kHz bandwidth are .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819121298 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Itz 5 q2FF FE 9 AEEH FEANF 5 kHz 2, (9 90 kHz “fbraa srefe Gga gem
LA (B574 TLAME AW THR |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 26 Question Id : 70819121299 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In the reported figure of earth, the value of acceleration due to gravity is same at point
A and C but it is smaller than that of its value at point B (surface of the earth). The value of
OA:ABwillbex:y. Thevalueofxis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819121299 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



fbae (4 9al S, JORETIF T9R T, [ A 9F [ C © ar3z, [ @ B (Jf4@p)T TR
T o.F 79|
OA:AB?H'WQ’HI:y | xS __

TC
3200 km

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819121300 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

BT TS . @ : R
1 mole of rigid diatomic gas performs a work of — when heat Q is supplied to it. The molar
J

heat capacity of the gas during this transformation is ? Thevalueof xis

[R = universal gas constant]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 27 Question Id : 70819121300 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

e Q #Afered wref e 4@ 77, 154 ARwd @ 75 -+ CW%WWWH“W

FE| €F TGN TR (O T A TR 77 % | x3TW
R = @ (o1 &49]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819121301 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A point source of light 5, placed at a distance 60 cm infront of the centre of a plane mirror of
width 50 cm, hangs vertically on a wall. A man walks infront of the mirror along a line
parallel to the mirror at a distance 1.2 m from it (see in the figure). The distance between the
extreme points where he can see the image of the light source in the mirroris ___ om.

S
50 cm e

60 cm

—I12m—
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819121301 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

TEIS STATIE T OB W%“j@iﬂ& 50 cm T27 @3+ FGA MO (FHI #{1 60 cm [TFS
TAFS| FAGE MCARTA TG, FH {1 1.2 m [@9%9, MR Agae o (97 frfe aom
T3 (TS v (f5Te (Bw) | Saj2ee WOeMeTe (12d BeoW #fEfqm (P 54 (extreme) 4%
‘ifﬁ TEIHdE __  cm |

S
50 cm 4 o

60 cm

e | 2 11—

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819121302 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particle executes S.H.M. with amplitudr_- ‘a’ and time pr_-riod “T". The disp[acoment of the

particle when its speed is half of maximum speed is N3 The value of x is o
2

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819121302 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A5 FI1% o’ o o #RIE T S e RIS oifee off Ffam) e TR & A whed

oy
oY oy efem A R 3y VYA |y mETI |
]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 30 Question Id : 70819121303 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

27 similar drops of mercury are maintained at 10 V each. All these spherical drops combine
into a single big drop. The potential energy of the bigger dropis __ times that of a
smaller drop.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 30 Question Id : 70819121303 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

27 51 G733 AR GIeEE AfEHTE 10V Reae T (7' AR (TARE G Asmes 6
s Bangic b i 2 et IR E fancicant B OR TRt It e S - -k |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Chemistry Section A
Section Id : 708191960
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911240
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819121304 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-I1

List-1 List-11
(Molecule) (Bond order)
(a) Ne, @ 1
®b) N, (i) 2
() F, (i) O
(d) O, iv) 3

Choose the correct answer from the options given below :
Options :
70819169061, (@) — (1), (b) — (ii), (c) — (iii), (d) — (iv)

70819169062, @) — (iv), (b) — (iii), (c) — (ii), (d) — (i)
20819169063, (@ — (i), (b) — (i), (c) — (iv), (d) — (iii)

70819169064, (@ — (i), (b) = (iv), () — (i), (d) — (ii)

Question Number : 31 Question Id : 70819121304 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SifeT-1 F wiferal-11 7 0s e :

iferest-1 wiferei-11
(=19 (arerferarar)
(a) Ne, i 1
b) N, (i) 2
(© F, (i) 0
d O, (iv) 3
e W A o[ wE TEars afe Sher
Options :

70819169061 (a) — (1), (b) — (ii), (c) — (iii), (d) — (iv)

70819169062, (@ — (W), (b) — (iii), (c) — (i), (d) — (i)

20819169063, (@ — (i), (b) = (i), (c) — (iv), (d) — (iii)



20819169064, (@ — (iii), (b) — (iv), (c) — (i), (d) — (i)

Question Number : 32 Question Id : 70819121305 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The nature of charge on resulting colloidal particles when Fe’CI3 is added to excess of hot
water 15 :

Options :

70819169065, Positive

70819169066, Nesative

70819169067, Neutral

70819169068. sometimes posﬂwe and sometimes nr:-gatwc-

Question Number : 32 Question Id : 70819121305 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TR 4T AR 9 S FeCly T F1 24, 00 (241 Faqeq T 4F6 2 :
Options:

70819169065, T4

70819169066, A

70819169067, A ™

70819169068, = NIl AT S TR AT



Question Number : 33 Question Id : 70819121306 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of electron gain enthalpy is :
Options :

70819169069, © >S5 >5e>Te

70819169070, e >5¢>5>0

70819169071, >~ O >Se >Te

70819169072, ©>5¢>Te>0

Question Number : 33 Question Id : 70819121306 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A AT AU WE T T A
Options :

70819169069, © >S5 >5e>Te

70819169070, 1e>5e>5>0

70819169071, >~ O >Se>Te

70819169072, © > 5> Te>0

Question Number : 34 Question Id : 70819121307 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-11.

List-1 List-11
(a) Siderite 1R
(b) Calamine (i) Ca
(c) Malachite (iii) Fe
(d) Cryolite (iv) Al
v) Zn

Choose the correct answer from the options given below :
Options :
70819169073, (@) — (i), (b) — (i), (c) — (v), (d) — (iii)

70819169074, (@ — (ii), (b) — (v), (¢) — (i), (d) — (iv)

70819169076. (8) — (iii), (b) — (i), (c) — (v), (d) — (ii)

Question Number : 34 Question Id : 70819121307 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wiferarl-1 F Siferarl-11 T For e
wifert-1 wiferel-11
(a) freaEs (i) Cu
(b) TEETHIZH () Ca
(c) TG (iii) Fe
(d) @E'F=L (iv) Al
v) Zn
e W AEEaEd fA wE TEarsr a1y SEed
Options :

70819169073. (@) — (i), (b) — (1), (c) — (v), (d) — (i)



70819169074, (@ = (iii), (b) = (v), () = (i), (d) — (iv)

70819169075 (a) — (i), (b) — (ii), (c) — (iid), (d) — (iv)

70819169076, (@) — (i), (b) — (i), (¢) — (v), (d) — (11)

Question Number : 35 Question Id : 70819121308 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following forms of hydrogen emits low energy 3~ particles ?
Options :

70819169077, Lroton H'

Protium %H
70819169078.

Deuterium 2H
70819169079. 1

Tritium TH
70819169080.

Question Number : 35 Question Id : 70819121308 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS W TG (G FATART TFLONA 1 *fE p - Fen Fefe Fa 2
Options:

70819169077, & &1 H*

L] .1 ;
70819160078, 3 P {H



s . I'El:\ 2
70819169079. da

b 31

70819169080.

Question Number : 36 Question Id : 70819121309 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-11.

List-1 List-11
(a) Sodium Carbonate (i Deacon
(b) Titanium (i) Castmer-Kellner
(c) Chlorine (iii) wvan-Arkel
(d) Sodium hydroxide (iv) Solvay
Choose the correct answer from the options given below :
Options:
70819169081, (@) = (iv), (b) — (iii), (c) —= (1), (d) — (ii)
70819169082. (a) — (iv), (b) — (i), (c) — (ii), (d) — (i)
70819169083. (@) = (i), (b) — (i), (c) — (iv), (d) — (ii)

20819169084, (@) — (iii), (b) — (i), (c) — (i), (d) — (iv)

Question Number : 36 Question Id : 70819121309 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Siferal-1 F ifere-11 7 Fere e :

Sifere!-1 iferest-11
(a) ¥ e =0 (i) ==
(b)  GECHEE™ (i) FEAA-TFEE
(c) ='fa= (i) 1 SACEE
(d) e FgwEee (iv) =eCS
TS A e @ wE Yearel a1 Seed ;
Options :

70819169081, (@) — (iv), (b) — (iii), (c) — (), (d) — (ii)

20819169082, @) — (iv), (b) — (i), (c) — (ii), (d) — (iii)

70819169083, (@) = (). (b) = (iid), (¢) = (iv), (d) — (ii)

70819169084, (@) — (iii), (b) — (&), (c) — (i), (d) — (v}

Question Number : 37 Question Id : 70819121310 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which pair of oxides is acidic in nature ?

Options :

70819169085, 2203 502

70819169086, 2203 ¢a0

N,O, BaO
70819169087. -~

70819169088, 20 Si0;



Question Number : 37 Question Id : 70819121310 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Options :

70819169085, °20% 5102

70819169086, 203 <20

N-,O, BaO
70819169087. <

70819169088, 20 510,

Question Number : 38 Question Id : 70819121311 Question Type : MCQ Option Shuffling
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : In TlI5, isomorphous to Csl, the metal is present in +1 oxidation
state.
Reason R : T1 metal has fourteen f electrons in its electronic configuration.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
708191690809. Both A and R are correct and R is the correct explanation of A
70819169090. Both A and R are correct but R is NOT the correct explanation of A

70819169091 A is correct but R is not correct

70819169092. A is not correct but R is correct

Yes

:Yes



Question Number : 38 Question Id : 70819121311 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A [ O A AR ;<5 w A a5 34 tar W w1 @iee R 5 e w
|

YT A g TII3 EC513¥ T ﬂ'gi’.ﬁ F1 e S8 S0 |

FAA R : TI4EA AR AT QTS O54T51  3TEg e

89T T oM foTae, e a Eaaed *A1 Treed e A Teed
Options :

20819169090, A TF R T TG ©% 7 R, A T W& T 77|

70819169091, A ¥% % R w7 723

20819169092, A 7 T2 % R 97

Question Number : 39 Question Id : 70819121312 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calgon is used for water treatment. Which of the following statement is NOT true about
Calgon ?

Options :

70819169093 C algon contains the 2™ most abundant element h}-‘ wr_-ight in the Earth’s crust.

20819169094. It is pnl}-'m::-ric compnund and is water soluble.

70819169095, It is also known as Graham's salL.

e Calt o s §
20819169096. It doesnot remove Ca=" ion by precipitation.



Question Number : 39 Question Id : 70819121312 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :
70819169093, =1 =PIt ’f@q TS o AGATa TeLo! (FaeTs A |
20819169094, 2 0 TZFTT T F 3 #Are @4y

70819169095, 2N ATRTT FIT ZBICAS Tl TR |

4 3 5 ol ;n
70819169096, 2 TECF GRS CaZt S Sieq 1A |

Question Number : 40 Question Id : 70819121313 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ceric ammonium nitrate and CHCl,/alc. KOH are used for the identification of functional
groups present in ___ ~and __ respectively.

Options:

70819169097. alcohol, amine

70819169098, amine, alcohol
70819169099 alcohol, phenol

70819169100 amine, phenol



Question Number : 40 Question Id : 70819121313 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

54d @ RN 205 W CHCL/ale. KOHIRAFA W &% ©4F
FEAFA [T DGR A, TUEH |

Options :

70819169097, ST 2, 2

70819169098, 4%, GFF T
70819169099, 7% 2, f&ere

70819169100, ‘9=, =

Question Number : 41 Question Id : 70819121314 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 2 &
In CH, =C=CH - CH; molecule, the hybridization of carbon 1, 2, 3 and 4 respectively,

are :
Options :

sp2, sp2, sp?, sp°
70819169101. e i i

3 3 o3
70819169102, P 7 5P 5P 5P

o) J 3
70819169103, F 7 ¥ 57 5F

sp2, sp°, sp2, sp°
70819169104. Prrerey



Question Number : 41 Question Id : 70819121314 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

iq s 4
Cilz:C:CH (_"!13 S, erz,f}w-—laﬂﬂﬁquﬁ:

Options :

sp2, sp2, sp2 sp
70819169101. e

3 3 o3
70819169102, P 7 5P 5P 5P

o) J 3
70819169103, F 7 ¥ 57 5

sp2, sp°, sp2, sp°
70819169104. e i

Question Number : 42 Question Id : 70819121315 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1) Zn/HCl

0O 10-20abm

Considering the above reaction, the major product among the following is :
Options :
CH,CH,

70819169105.

COCH,CH;

70819169106.



CH,
CH;

70819169107.

CH,CH,CH,

70819169108.

Question Number : 42 Question Id : 70819121315 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1) Zn/HCI
O 10- 20 atm

SorATE [fEFTNs A e, Tae faaee fTudae 4y ErewE :
Options :

CH,CHj,
70819169105.

COCH,CHj
70819169106.

CH,q

CHj,

70819169107.



CH,CH,CH,

70819169108.

Question Number : 43 Question Id : 70819121316 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identify A in the given reaction.

OH

S0Cl, _
— A (Major Product)

HO CH,OH

Options :
OH
70819169100, ©OH CHx
Cl
70819169110, O CHOH
OH
70819169111, ¢l CIHLC

70819169112.



Cl  CH,CI

Question Number : 43 Question Id : 70819121316 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
#wa [ERGe A e #4 :
OH

SOCl,
2y A (= wrewE)

HO  CH,OH
Options :
OH
70819169100, ©OH CHx
Cl
70819169110, O CHOH
OH
70819169111, ¢l CILC



cl CH,(Cl
70819169112. -

Question Number : 44 Question Id : 70819121317 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Idc-ntf_t'}-' A in the given chemical reaction.

CH,CH,CHO SO
@: 2 » A (Major Product)
CH,CH,CHO C,;HsOH, H5O

A

Options :
CHO

Q

70819169113.

—0

z:

70819169114.

R

70819169115.

CH,CH,COOH

=

70819169116. CH,CH,CH,0H



Question Number : 44 Question Id : 70819121317 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
#WE AEE e A BOrE F4

CH,CH,CHO
NaOH
O: » A (99 T9E4D)
CH,CH,CHO Gol50H, H,0
& A

Options :
l] lI ACHO

70819169113.

O

@
.|_c
L

70819169114. l I

70819169115.

CH,CH,CH,OH

70819169116.

Question Number : 45 Question Id : 70819121318 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Idc-ntf_t'}-' A in the | OHO‘WiI‘Ig chemical reaction.

£zl i) HCHO, NaOH A
ii) CHCH,Br, NaH, DMF
CH, iii) HI, A
Options :
1
: _C—OCH,CHjy
70819169117, 1€
i _CH,I
70819169118, HO
: _CH,OH
70819169119, 1 1©
: .CH,OH
CH;0
70819169120.

Question Number : 45 Question Id : 70819121318 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“HO 4§y eno, NaoH 3
ii) CHyCH,Br, NaH, DMF
CHy0 iii) HI, A

Options :



i
C—OCH,CH,

70819169117.

CH,I

Q Q

70819169118, 1O

CH,OH

Q

70819169119. L

CH,OH

Q

CH,0
70819169120.

Question Number : 46 Question Id : 70819121319 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-1I.

List-1 List-11
Cl
Nz"fl_ L
(a) _ Cull, +N, (i) Wurlz reaction
Cl

N, *Cl—
(b) @/ 2 f_u,—HLl} @ +N, (i) Sandmeyer reaction

(c) 2CH,CH,Cl+2Na __Ether C,H; ~ C,H. +2NaCl(iii)  Fittig reaction

(d) 2C.HCl4 ONa _ Ether , CeH:—C,H:+2NaCl  (iv) Gatterman reaction

Choose the correct answer from the options given below :



Options :
70819169121, @) — (i), (b) = (i), (¢) — (1), (d) — (iii)

20819169122, @) = (i), (b) — (i), (c) — (iv), (d) — (iii)

70819169123, (@) — (i), (b) — (i), (c) — (iv), (d) — (ii)

70819169124, (@) — (i), (b) — (), (¢) — (i), (d) — (i1)

Question Number : 46 Question Id : 70819121319 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

siferest-1 & wiferer-11 7 F5re e -
wiferest-1 wiferat-11
Cl
N,*+Cl- o
(a) g/ _GnCh @ +N, () A R

Cl

N, +Cl-
(b) g/ ’ Cu, HCl | @ + N, (i) T fafaw

() 2CH,CH,Cl+2Na _ Ether = C H,-C,H, +2NaCl(ii) s
(d) 2CH;Cl+2Na _Ether = C.H. CH:+2NaCl (iv) Cimcas fafem
e WA feEraEd [ weE Taars! iy T

Options :

70819169121, (@) — (i), (b) = (iv), (¢) — (i), (d) — (iii)

20819169122, @) = (i), (b) — (i), (c) = (iv), (d) — (iii)

70819169123, (@) — (i), (b) — (i), (c) — (iv), (d) — (ii)



70819169124, @) — (iii), (b) —= (iv), () — (i), (d) — (ii)

Question Number : 47 Question Id : 70819121320 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Seliwanoff test and Xanthoproteic test are used for the identificationof and
__ respectively.

Options :

70819169125, aldoses, ketoses

70819169126, Ketoses, aldoses

70819169127. ketoses, proteins

proteins, ketoses
70819169128.

Question Number : 47 Question Id : 70819121320 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TRAGIRTE A OF Gy A 05T A S i 7 PaesET I3
qIaZq 541 2|

Options :

70819169125, <% &, [0

70819169126, (0 &, 47E’T

70819169127, =6 &, #'H=

70819169128, 4 B, 6=



Question Number : 48 Question Id : 70819121321 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-11.

List-1 List-11
(a) Sucrose (i) P-D-Galactose and B-D-Glucose
(b) Lactose (i) «a-D-Glucose and p-D-Fructose
(c) Maltose (iii) «a-D-Glucose and o-D-Glucose

Choose the correct answer from the options given below :
Options :
70819169129, (@) = (i), (b) = (i), (c) — (iii)

70819169130, @ — (i), (b) — (i), (c) — (i)

Question Number : 48 Question Id : 70819121321 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wiferal-1  Sifers-11 3 #ere fgera

wiferast-1 wiferest-11
(a) =@ i pB-DIE’E WF B-D-ITF
(b) wE'H (i) oD-IF"IF p-D-FF'E
() T%'® (i) o-D-JFT IF o-D-IFF
wEe W faFsraEd 4 wE TEars! Ay sEear
Options :

70819169129, (@) — (i), (b) — (1), () — (1)



70819169130, (@ — (i), (b) = (i), () — (i)

70819169131. {ﬂ] — l[]:.:l,r {b] —3 {]:.]:.]'-.:I.r {C] — {]:.i]

Question Number : 49 Question Id : 70819121322 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2,4-DNP test can be used to identify :

Options :

70819169133, nalogens

70819169134, aldehyde

70819169135, amine

70819169136, Ccther

Question Number : 49 Question Id : 70819121322 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2,4-DNP #ar%# a2z 34 70 BIEaaed ana

Options :

70819169133, =21 o1 T

70819169134, 9 o22T 4

70819169135, “9¥= T



70819169136, 249 T

Question Number : 50 Question Id : 70819121323 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A. Phenyl methanamine

B. N,N-Dimethylaniline

C. N-Methyl aniline

D. Benzenamine

Choose the correct order of basic nature of the above amines.
Options:

70819169137, A >B>C>D

70819169138, D> C>B> A

70819169139, 4> C>B>D

70819169140, P> B>C>A

Question Number : 50 Question Id : 70819121323 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A, TEE Sraemes
B. N N-uizfaazs affewm

C. N-frmEafafe

D. TA-aes

S NI TR HPheq o FAC1 Mg, Tfersa|
Options :

70819169137, A > B>C>D



70819169138, 0 > C > B> A

70819169139, 2> C>B>D

70819169140, P> B>C>A

Chemistry Section B

SectionId: 708191961
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911241
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819121324 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The I\IaI\ID3 weighed out to make 50 mL of an aqueous solution containing 70.0 mg Na f
permLis g (Rounded off to the nearest integer)

[Given : Atomic weight in g mol 1.Na:23:N:14:0: 16]
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 51 Question Id : 70819121324 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

#f& mL © 70.0 mg Nat 231 @51 50 mL ¥ AL A& 0241 NaNO, T gl
(Frabed e Aeam)

(/1 ' < g mol ™! © “1awofa® ©4- Na: 23; N: 14; 0 : 16

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 52 Question Id : 70819121325 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of octahedral voids per lattice site in a latticeis . (Rounded off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 52 Question Id : 70819121325 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@5 TeAoeq A TEbR BI2DE (site) SRFERT NAERE (voids) HA TH | (TS W)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819121326 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A ball weighing 10 g is moving with a velocity of 90 ms L If the uncertainty in its velocity
is 5%, then the uncertainty in its positionis ___ %10 3 m. (Rounded off to the
nearest integer)

[Given : h=6.63 x10* Js]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819121326 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10 g &9 T b1 90 ms ™~ ! 391@ +ife 3 W) Az T sferaea wlwsger 5%, TOwE 6 e
T WS TF %107 P m | (G RA)
([ 2  h=6.63 x10~* Jg]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819121327 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The average S—F bond energy in k] mol L of SF{.] is . (Rounded off to the nearest
integer)

|Given : The values of standard enthalpy of formation of SF(g), S(g) and F(g) are - 1100, 275
and 80 k] mol ! respectively.|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819121327 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

SF,© K mol~! 3% T S—FIm@eri& Ta | (fahew weg s Teq)

[ 2731 2 SF (g), S(g) W F(g) T #1 250w Gyt JCH - 1100, 275 1 80 k] mol ! |
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 55 Question Id : 70819121328 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

When 12.2 g of benzoic acid is dissolved in 100 g of water, the freezing point of solution was
found to be —0.93°C (K¢ (H,0) =1.86 Kkg mol ~!). The number (n) of benzoic acid molecules
associated (assuming 100% association) is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819121328 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

e 3R T @femT 122 ¢, 100 ¢ A Galge 391 27, FHOW BT —0.93°C o141 o'7
& & :

(K (H,0)=1.86 K kg mol =) | e 721 (30 2 e W (100% TG 4 037) e

gA__ |

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819121329 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The pH of ammonium phosphate solution, if pk,d of phosphoric acid and pkb of ammonium
hydroxide are 5.23 and 4.75 respectively, is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 56 Question Id : 70819121329 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Iz Few e «Rewd pk, WF @AW T8y WM pk, IS 523 TF 4.75, T TR FELFD
WA pHZI |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 57 Question Id : 70819121330 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Emf of the following cell at 298 K in V is x> 102,
ZnlZn?* (0.1 M)||Ag™ (0.01 M) Ag
. (Rounded off to the nearest integer)

- — . 230RT
[Given:E ..  =—076V;E! , =+080V; =" =0.059]
In”" fZn Ag' [Ag F

The value of xis

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819121330 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

298 K T V «aee we W (FE0R e 99 (emf) T8 xx 1072
Zn|Zn?* (0.1 M)||Ag* (0.01 M) Ag
xITATA | (FFoeT WY AAme)

SR A Bt & _ . B _ 2.303RT Ry
G ?*T:LE; 2 0.76 V ; L*; e FO.80 V; " i 1 0.059 ]
hy hy Ag fAg i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819121331 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the activation energy of a reaction is 80.9 k| mol ! the fraction of molecules at 700 K,
having enough energy to react to form products is e”*. The value of x is _
(Rounded off to the nearest integer)

[Use R=8.31] K~ 1 mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819121331 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T TN e e =& 80.9 k] mol ~ 1 2, 700 K THET® Gy 904 F4aA T A 47
TR AN TAe T xITWITA | (Fehe we weye)

[3792@ 41 : R=831 ] K ' mol ]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819121332 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In mildly alkaline medium, thiosulphate ion is oxidized by MnO, to “A”. The oxidation
state of sulphur in “A" s .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819121332 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



T WY TGS, MnO,y S A QAED AHTS “A” (A Gie ;A1 “A” © Qereiaq el gl
g |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819121333 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of stereoisomers possible for [Co{ox)z{Br](NHﬁ)]z is .
[ox =oxalate]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 60 Question Id : 70819121333 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
[Co(ox),(Br)(NH;)]?~ T a1Ta 7Ea=@ BEee ' swmraeg #Aeam g's

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5to 5.001

Mathematics Section A
SectionId: 708191962
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911242
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819121334 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the mirror image of the point (1, 3, 5) with respect to the plane 4x -5y +2z=8is («a, B, v),
then 5(a+f +7v) equals :

Options :

70819169151, 39

70819169152, 41

43
70819169153.

70819169154, 7



Question Number : 61 Question Id : 70819121334 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3 4x 5y + 22=8 TR ACATH (1, 3, 5) KD wienet 4ol (o, B, v) T (B0, 5(a+ B +7)
LR

Options :

70819169151, 39

70819169152, 41

43
70819169153.

70819169154,

Question Number : 62 Question Id : 70819121335 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Let A=1{1,223 ..10}and f: A — A be defined as
.fk“kll if k is odd
Leie ‘i‘ k if k is even
Then the number of possible functions ¢ : A — A such that gof=fis :
Options:
5!
70819169155.

1{]{:
70819169156. 5

55
70819169157.



70819169158, 10°

Question Number : 62 Question Id : 70819121335 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
@A A =(1,2,3, ..., 10} €61 7ZfS TEF : A — A b1 FT ACO

Jk+1 % k Srgan

F(k) =
/() | k= kga

e gof=f TZALF g : A — AT T [ TG Fo=d AN T T
Options :

|
70819169155. St

70819169156.

70819169157.

05

=

70819169158.

Question Number : 63 Question Id : 70819121336 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A, be the area of the region bounded by the curves y=sinx, y=cosx and y-axis in the
first quadrant. Also, let A, be the area of the region bounded by the curves y =sinx, y=cosx,

L1
r-axis and X ~= in the first quadrant. Then,

Options :

i _
70819169159, ‘M1 1 Ax=1:2and A, +A,=1

20819169160, A A =10 VE and A, +A,=1



70819169161, 1= 2 and Ayt A= 2

g = : . 3
70819169162, 21 =Az and A+ A =1+ 2

Question Number : 63 Question Id : 70819121336 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ TH, y=siny, y=cosx TF y-TH € ST (BFC Td% (Fdq (HIFA A, 9F y=siny,

= cosx, x-%T% IF 1’=; T 74 31 (S Ua (Faq (B3 A, &, (W9 :

Options :

Ayt A,=1:29F A, +A,=1
70819169159. - -

A A =1": EHE A+ A, =1
70819169160. ! 2 V2 R

Roec R R
70819169161, -1 2 LA o

2A,=A, T A, +A, =1+ 2
70819169162. - a

Question Number : 64 Question Id : 70819121337 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

IfQ0<a b<1, and tan~ !

| i 2 o 3 4 4
@+ [ ;h]l[ﬂ ;b] [ ;]

Options:

a+ tan 1b= II then the value of




70819169163.

e-—1
70819169164.

70819169165.

70819169166.

Question Number : 64 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 70819121337 Question Type : MCQ Option Shuffling : Yes

%0 <a,b< 1% tan la + tan 1b=§ﬂhﬁ@.

' LT %y
G ) [a +b ] I [a Ib]
2 3

Options :

70819169163.

70819169164.

70819169165, 1082

70819169166. e

Question Number : 65 Question Id

[ Sl S

] F o AN T
4

N,

: 70819121338 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2
: : . N EY o
Let slope of the tangent line to a curve at any point P(x, y) be given by Y Y I the curve

X

intersects the line x + 2y =4 at x= 2, then the value of y, for which the point (3, y) lies on
the curve, is

Options:
5
3
70819169167.
E
70819169168. =
18

70819169169. 35

18

11
70819169170.

Question Number : 65 Question Id : 70819121338 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S
@ T'F I 5T R 7 Py, y) © 50 i werm YV | o q@ong v 2y=4

X

A x= -2 Rege @w #03, (@, (3, y) Rogh! ISR 81ee @ile y I T ;

Options :
4
70819169167. :
15
19

70819169168.



18
70819169169, 2

15

11
70819169170.

Question Number : 66 Question Id : 70819121339 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o0 2 :
The sum of the series 3 200110 4 equal to :
r:;‘l (2n + 1)!
Options :
ﬂe | = e 1 —10
70819169171, °
41 19
—e+ —e ' +10
70819169172. ©  ®
;—l | l—: gt —10
70819169173.
a 19

70819169174, 8 8

Question Number : 66 Question Id : 70819121339 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o

) ) .
. n“ +6n+ 10
N

Z (2n+1)

TG A 27T

Options :



70819169171.

70819169172, ©

70819169173.

70819169174, 8 8

Question Number : 67 Question Id : 70819121340 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X

Let f(x)= Iet f()dt + e* be a differentiable function for all x € R. Then f(x) equals :
0

Options :

2e(€¥-1) 1
70819169175.

ale*—1)
70819169176.

70819169177. ©

70819169178. ~

Question Number : 67 Question Id : 70819121340 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



q@ 27, f(x) = [o! f(O)dt + o¥ T TA x & R AR WA | (T, f(3) WAL
0

Options :

70819169175. ~

70819169176.
70819169177.

70819169178. ~

Question Number : 68 Question Id : 70819121341 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f(a) - af(x)

X
Let f(x) be a differentiable function at x=a with f'(a)=2 and f(a) =4. Then lim = Exr
J J J e .

equals :
Options :
'j-.
70819169179, 22 4
~,
70819169180, 22
70819169181, 22 T4
at+4
70819169182.

Question Number : 68 Question Id : 70819121341 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@TA x=a S f(x) T TEFAA, TC [’ (a) =2 TF f(a) =4 | (ST, lim @)~ 3@

I—a X d

W ZT
Options :

~,
70819169179, 22 4

2

70819169180, * 2@

", :
70819169181, 22 T4

a+4
70819169182.

Question Number : 69 Question Id : 70819121342 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 _ . _n
x“-x-2 2
Let f(x)=sin ! x and §(*) = —5———. If g(2)= lim g(x), then the domain of the
E 2x X f r—2
function fog is :
Options :
(=20 -3,
2
70819169183. =
i : !
o -2 -3 )
70819169184. W AR
(—=, —1Ju 2, =)
70819169185.

o, 2] w 1,.'
70819169186, ¢ < AL =)



Question Number : 69 Question Id : 70819121342 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4q T'FA f(x)=sin " ! x T

Q(I)—J@#Eﬁ'ml
: 2% —x -6

afi $(2) = lim g(x)z, cav3 fog FACHR WfiTwT 27 :

Options :
_ . g
(- =, zlu{ = @
70819169183. S
' = "
(=AU |- 3 =)
70819169184. Wl
[— o~ w2 ooy
70819169185.
[—®, =31, =)
70819169186.

Question Number : 70 Question Id : 70819121343 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A(1, 4) and B(1, —5) be two points. Let P be a point on the circle (x 174 (v 1F=1
such that (PA)? + (PB)? have maximum value, then the points, P, A and B lie on
Options :

70819169187, 2" cllipse

70819169188, 2 yperbola



70819169189, @ parabola

70819169190, a straight line

Question Number : 70 Question Id : 70819121343 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@ TA A(1, 4) TF B(1, -5) [ o7€ 9| % P &0 (x (y-17=1787 &*qT AT
IS (PA)2 + (PB)? aq‘a@mm, rcgnawﬁg“aﬁ*w.

Options:

70819169187, 71 THIT ST

*AGET ST
70819169188. a .

T AT
70819169189. T e

70819169190, TR TERACKAE e

Question Number : 71 Question Id : 70819121344 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— M M M —5

If vectors a; =xi — § + k and a» = i Y ;'. b2k are collinear, then a possible unit vector
1 J 2 ¥ P
parallel to the vector xi y j' 2k s

Options :
Aty
2.

';" | Ic)
70819169191, V2



70819169192.

L8 -V
70819169193, V2

70819169194, V2

Question Number : 71 Question Id : 70819121344 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

W a —xi ; | I\:'Waz = iy y'j" | zf'ﬁ@’tﬂmﬁ%ﬂﬁﬁﬁ.mxlf I '\1;';:' 2k TSRAGA
TG (RIS <l T GFF (934 2 :

Options :

1 | oA

= = j + ki
70819169191, V<

LT ey

J3
70819169192.

L8 -y
70819169193, V°

1 ’:- f:-:l

—ﬁi[f 1)

70819169194.

Question Number : 72 Question Id : 70819121345 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



LetF,(A, B,C)=(AA~B) v [~CA(AvB)]v~Aand F,(A,B) = (Av B) v (B— ~A) be two
logical expressions. Then :

Options :
70819169195, F, and F; both are tautologies

70819169196. F1 is a tautf}lng}-' but F2 is not a tautnlu:}g}-'

70819169197, Fl is not a tautnlf}g}f but F2 is a tautnlog}-'

Both F; and F, are not tautologies
70819169198. v

Question Number : 72 Question Id : 70819121345 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4@ A F(A,B,C)=(AAr~B)v[~Chr(AvB)]v~ATFF, (A, B)=(AvB)v (B ~A) i)

Iage T (logical expressions) | T9(% :

Options :

F, =% F, 70 13 %F& (tautologie:
70819169195, ! 2 T F& (tautologies)

F, ##:% @ 38 F, 7 ¥ T2
70819169196, 1 Lo T e & oty

70819169197, 1 TG 72 8 F, e e

70819169198, 11 2  #f s |

Question Number : 73 Question Id : 70819121346 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A seven digit number is formed using digits 3, 3, 4, 4, 4, 5, 5. The probability, that number
so formed is divisible by 2, is :

Options :

M]lu.

70819169199.

3|

70819169200.

MJ|,_-..

70819169201.

*-.]|,4-_..'

70819169202.

Question Number : 73 Question Id : 70819121346 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3,3,4,4,4,5,5 TITIHTA BT G WeF 7T 55 T LA | (ST 191 (2141 2 73 ey ¢z
AR BR AP 7T

Options :

M]lu-

70819169199.

3| o

70819169200.

MJ|,_-..

70819169201.

*-.]|,4-_..'

70819169202.



Question Number : 74 Question Id : 70819121347 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following system of equations :
x+2y—3z=;
2x +6y—11z=Db
x—2y+7z=c,
where a, b and c are real constants. Then the system of equations :
Options :
70819169203, has a unique solution for all a, b and c

F - = - H : s "j,
70819169204, has a unique solution when 5a=2b+c¢

70819169205, has infinite number of solutions when 5a=2b+ ¢

20819169206. has no solution for all a, band ¢

Question Number : 74 Question Id : 70819121347 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x+2y—3z=a

2x+6y—11z=b

x Eyl?z:c,ﬂwqﬁq'?tﬁ' (F@ TH, TC a, b, c IWI FIF| (OTF 947G AAFA
SETHATH

Options :

20819169203, TP a, b SIF ¢ 4 A WGSH T SR
-;' H = 7‘ O -\n — r

20819169204, TR 52 =2b + ¢, TSFEHN SESH T |

AN $q (Ao 5a =2
70819169205, FEATF AT AP ARG 5a=2b +c |



20819169206. AFCANAE a, b F ¢ § T CFICT T T |

Question Number : 75 Question Id : 70819121348 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The triangle of maximum area that can be inscribed in a given circle of radius ‘r’ is :
Options :

70819169207. An isosceles Lria_nglc- with base r_-qual to 2r.
20819169208 A right a_nglr:- tria_nglr_- having two of its sides of Ir_-ngﬂ\ 2r and r.

f
An equilateral triangle of height _—:
70819169209. '

An equilateral triangle having each of its side of length ﬁ r.
70819169210.

Question Number : 75 Question Id : 70819121348 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘v A I8 @S AP I fage @b SRERS 4 A9, 7
Options:

70819169207. <51 FEarE fage I/ gt 2r |

BT FCFA T q| 5 AT 7 A 2r TFr |
70819169208. 2 gl r r

. 3
<51 > frge w4 e = |
708191692009. 3



aB1 AT faee A9 #AferhT i |
70819169210. 2 T V3r

Question Number : 76 Question Id : 70819121349 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let L be a line obtained from the intersection of two planes x+2y+z=6 and y+2z=4. If
point P(a, {3, y) is the foot of perpendicular from (3, 2, 1) on L, then the value of 21(cc+p + )
equals :

Options :

68
70819169211.

(51

70819169212, 102

70819169213, 136

,_.
e
=

70819169214.

Question Number : 76 Question Id : 70819121349 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@A leylz:ﬁwl;IZz:iWWWWﬁ'% @ L qom (@11 AL
(3,2, 1) Re@ 7 M=% P(o, B, y) T, (8 2 (at+p+y)ITTLT

Options :

68
70819169211.

70819169212, 102

70819169213, 136



70819169214, 142

Question Number : 77 Question Id : 70819121350 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let f: R — R be defined as

f . 'Tr.l'.\ .
'Esm( — L ilx=—1
| h 2 g
_1' — '4 s
f(x) llax2 +x+ b, if-1=x =1
| sin(mx), ifx >1

If f{x) is continuous on R, then a + b equals :

Options :

70819169215. 2

70819169216.

70819169217, !

70819169218, °

Question Number : 77 Question Id : 70819121350 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ 2'HA f: R — R 51 ¥ q@ =R A0S,

i I i y
. X
12 SI.I'II £l S

l 2 J
f(x) =3

,Eﬁ'rx'i 1

axZ +x+b, AW -1<x=1
| sin(x), x> 1
g R S f(x) Fo=IC0 SaMes o, (HBa+b AT 27 :



Options :

70819169215. 2

70819169216.

70819169217.

70819169218.

Question Number : 78 Question Id : 70819121351 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f the locus of the mid-point of the line segment from the point (3, 2) to a point on the circle,
x> +y?=11s a circle of radius r, then r is equal to :

Options :
1
70819169219, %
1
70819169220. 2
1
70819169221, <
1
70819169222.

Question Number : 78 Question Id : 70819121351 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



% 22 + 7 =17%1 4B A (3, 2) Reg@ o@1 b7 (@eToa ORI M@ (locus) r TS
IR (TR rITAZA:

Options :

H'—-||—'-'

70819169219.

'__,Jl;_.

70819169220.

r| =

70819169221.

70819169222.

Question Number : 79 Question Id : 70819121352 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A natural number has prime factorization given by n=2"3%", where y and z are such that

y+z=5and y 1471 o y > z. Then the number of odd divisors of n, including 1, is :

Options :

70819169223.

70819169224. =

70819169225. =

70819169226, %

Question Number : 79 Question Id : 70819121352 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

b1 Frelfes MR (s T [ n=2"35" Il o, I'C y A 2 GG AN,
ylz=5W$y_1|fl=gqy?aGRElﬁﬁ%nEE@NRWWﬁHWTfH:

Options :

70819169223.

70819169224. =

70819169225, <

70819169226, °F

Question Number : 80 Question Id : 70819121353 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tlog, t ' (1)
For x>0, if f(x)= I{fg—lﬁtjdtf then f(e) 4 fl — | is equal to :
e )
1

Options :

70819169227. U

70819169228.

N =

70819169229.

70819169230.



Question Number : 80 Question Id : 70819121353 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X

log.t

.I}Dﬁﬁﬁlﬂﬁ ﬁ1)=f__;_dtEﬁgjﬁﬂIf(%]ﬂ?qgﬁ:
e

1 (1 +t)
Options:

70819169227. U

=

70819169228.

N =

70819169229.

70819169230.

Mathematics Section B

Section Id :

Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191963
6

Online
Mandatory
10

5

20

Yes

1
7081911243

Yes



Question Number : 81 Question Id : 70819121354 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

.l . g
1 LM 1 . 1

L, ,= Il"]‘_l{l ,1')”_1 dr, formn=1,and |———dx=al, ,,ae R, thena

“ ” {1 |-1,:l]]'l"'l'|

equals

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819121354 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
. 1 1 l_m—l J.'”_l
M1, , = Il']]]_l{] )" ldr, mnz=19% I—{] T dr=aly 1, ac R T@Fa
0 0
MEETI_ |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819121355 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Let z be those complex numbers which satisfy
z+5 <4and z(1 +i) +2(1-i)= - 10,i = -1,

If the maximum value of |z+1/2 is « A [NE, then the value of (a+p)is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 82 Question Id : 70819121355 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 45 < A 2L +i) 431 i) >~ 10,i = -1, SR 5 B 740 2 aF S
A 2 |2 +127 oG T o + V2 W, O () ITHEI |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 83 Question Id : 70819121356 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the normals at all the points on a given curve pass through a fixed point (a, b). If the

curve passes through (3, -3) and (4, E\E], and given that 'a ~2/2b=3 then

(a®>+b*+ab)isequal to

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819121356 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

4 T A @51 A7E TB] ATOF S G WS IAd o1 WG & (a, b) T WA @ Lz AW A

TEHTE (3, —3) TR (4, - 242) RFa A4 AR 4 - 2.2 b=3 T, (0% (a>+b>+ab) T T
23|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819121357 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let a be an integer such that all the real roots of the polynomial
2x7 + 5x% + 102 + 1022 + 10x + 10 lie in the interval (a, a+1).

Then, |a|isequal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 84 Question Id : 70819121357 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

441 29 a B 4G e ACE 207 + 50t + 1023 + 102 + 10x + 10 IZAWEHA AHIZCAT IRF T
(a,a+1) TS AEF| (O0F |a| TWHZ T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819121358 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1 '15_

LetX,, X, ..., X,g be eighteen observations such that Y (X; — o) =36 and l(}(E [:‘1)2 =90,
i=1 i=1

where o and [ are distinct real numbers. If the standard deviation of these observationsis 1,
then the value of o — B 15 _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819121358 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



18 13
QLA X, Xy, ..., Xpg T 1851 RTHIACE ) (X; ~ ) =36 TF Y (X; - B)* =90,3TT
=1 =1

o B T N I WA | A GEEA AREE AW [y 1 %, % o« - | I T TR
.l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819121359 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
S | L 00
1 P, | :
oA +BA=|0 4 0] forsome
30 -1 001

[fthematrix A=|0 2 0 | satisfies the equation A

real numbers « and 3, then f~« isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819121359 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



10 0 ' 1 0 0
o TP IR T AE@AT A= |0 2 0 | coeword AL + oA +BA=0 4 0
30 -1 00 1
TRANOF % @ (S0, o TN TT

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 87 Question Id : 70819121360 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let a and f be two real numbers such that a+p=1 and af=-1. Let p =(a)"+ ()",

b i
Py-1=11and p, ;=29 for some integer n = 1. Then, the value of p, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819121360 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
QT o E PP WA a+p=1TFaf= 1% & ZaA p,=()"+(B)" p,_,=11

2qTI

n —

ST p,, 4 =29, A 94 FeAn > 1, T (=W p

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819121361 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of 4-digit numbers whose greatest common divisor with 18 is 3, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819121361 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

18 T #5@ 51z A3 &2 (GCD) 3 AT 4RSI AT |
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819121362 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

[f the arithmetic mean and geometric mean of the p“' and q“' terms of the sequence
16, 8, —4, 2, ... satisfy the equation 4x2-9x+5=0, then ptqisequalto

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819121362 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

M, ~16,8, ~4,2, ... HGHE p T T q T 7 T TG TR (AM.) T L9 77 (G.M.)
W 42 -9y + 5=0 FeAE 1% 704, @@ p+qTWIZI |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819121363 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let L be a common tangent line to the curves 4x* +9>=36 and (2x)*+ (2y)>=31. Then the
square of the slope of the lineLis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 90 Question Id : 70819121363 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@ 277 42+ W2 =36 TF ()2 +(2y)>=31, IF HR L 97 M =iF|  (o0% L (990
qqTed B 2T __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



